R\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213\FL-15213.12-18.dwg, FL-15213.15

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain
Rustic / Mahogany

Series N Fiberglass Door

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

1. This product has been evaluated and is in compliance with the 2010 Florida Building Code
(FBC) structural requirements excluding the "High Velocity Huricane Zone" (HVHZ).

2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to
base material shall be beyond wall dressing or stucco.

3. When used in areas requiring wind bome debiris protection this product is required to be
protected with an impact resistant covering that complies with Section 1609.1.2 of the FBC.

4, For 2xstud framing construction, anchoring of these units shall be the same as that shown
for 2x buck masonry construction.

5. Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

——

Typical elevation, design pressures, & general notes

Door panel details

52.75" MAX. OVERALL
FRAME WIDTH

15.25" MAX.

82.00" MAX. OVERALL FRAME HEIGHT - INSWING
80.50" MAX. OVERALL FRAME HEIGHT - OUTSWING

Sidelite panel details

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Buck and frame anchoring - 2X buck masonry construction

INSWING

§2.75" x 82.00"

21.00" x 63.00"

FRAME WIDTH

7.00" x 63.00"

Frame anchoring - 1X buck masonry construction

VO |INjO~N || A|WN

Bill of materials, glazing detail & components

OUTSWING

52.75" x 80.50"

21.00" x 63.00"

7.00" x 63.00"

Gl

+48.0

-50.0

+50.0

-50.0

0
8 §n J3
¢R E= T
2 .23 .7
.dod . 0
= o ,Z
g2ty
H5888 o
>N 88 )«
Zow 5 ¢ =
,585-,£§§g
,,05233\)8
eszE lL.
g3 ;585
P Racide 8§
o ] o
8 §g§ 5
5 5%
1 i
3
(=]
[75]
wn
L
Q
8 °F
28| Zu
23
8§§|<°
& g@w
OML‘J
gﬂim w0
a2 3¢
= En: §a
3 S| &0
[ =L
S B R
o o
o
[72]
r4
O
2]
|
[rd
o
S
o
>4
oaTE: 02/16/12
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-15213.15

sweer _1 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



TON] SLNVLIMNENDD SMICTHNE "M 2108 @

BO¥CH "ON "I'd WPIUYDSS ‘4 uopuly SNOISIAZY .
Lz —PIES STLIA TINV] ¥00a Ad VD ONJY o] = |9
€186 °ON uonRDZUOUINY JO 9I0DUPIeD . N - U My
siesuibul [pucisssiold O PIDOE DPLO|Y ATEWEASSY ¥0 Livd Mm = o 1?1_ &
L616°659°CL8 FoN suoug 000 SSv19u3ad N o
SESEE “1d OOMIPA OSZ Xo8 "0'd S@. “ONI OYdLSYId o| |&|& i
"ONI 'SINVLINSNOD ONIGUNG N m m . s W -r.r... M
:Ag pespdesg sjuswWnoog <LONA0¥d & m W
oz
O
O = )
—
: 3
2
s
5
s
\ = =~ m
<
=
® 5 :
B ® @
= &
i3 z mw
- _.0_.._. j’
B
i 213
o i 23
e, 8G7 | —o=— mm G
| wl £
(O]
=5
o £
= S e 3e
o 4 28
3 3= a
4 (%) 65— Q
a v -3
/4l o =
0 I/ 24 - r
o o v ) =
oz oc =1 . O
= g = = g
Z < B 2l
" ] » =5
>
5 c ©
O = —= 60 |=—
mw | £
=
= O
B RE
.*n 218
, |
® :
| g
2[3
=|©
1=
£4=
==
— == O
N
y o
3, T :
5= o X N vl
: o e
88g @ N m
s X AN
® 0 |
IHOEH O TA XYW .00'E9
IHOEH TANVYd 3000 XYW .52 6.

ST°Z ‘BmMp'8T-ZT €126 T-H\0T0oZ\SBUMRIq DMY "a\Z8ST Jd\00ST - T05T [osd\siapiod 1afoid\sefond - iy



TON] SLNVLINBHOD aNIGUNg MY 2102 @

BOPTH ‘ON ‘I'd “IPIUIYSS 4 UOPUA] SNOISIATY o
/sty & SWI3q TaNvd Auals A8 AR S Glxlel 5o
M« U @3Do) & H
ssesuics 1ouomemiazd 40 Raooa opiol KTGNISSY 0 _18vd Sl L
LBLE°6SY°CLE TON ®uOUd H00d SsYI19d3did /ou/ . g0 3_
S6SEC "4 OSUIDA 0£Z Xo@ ‘0°d \Summ, "INl 0¥dLSVId ol |&l&le
“ONI ‘SINVLINSNOD oNIaNg . E m 5 | o = ﬂ m
1Ag pespdesd sjuswInSo( <10Na0Yd = m 5 W &
(474
(3 O (3
(274
= =z
- S
w (8]
- 2
X X xR &
U
g = =
La.8
© 5 g o2 >
& (®

LATCH & HINGE STILE

Sidelite stile
Wood reinforcement

—={ 0.98" f=—

(47)

55

d
O
m b
4 * m
/4 3 . m
S v & m .o.H, Il0®
g2 v , s
Lt L =g Wl
= m M * r W68°1 L = wm
bod
Mo & ©
= 2
G m

3/

< _-N-m. e

~—1.59" —]

0 SIDELITE TOP & BOTIOM RAIL
Cellular PYC

% =
w O
Z3%
el
[
=
=
N
| ]
x b (®
E| L ]
M W IHOEH O 1A XYW 009
80
™~ m. = IHOEH TENYd 2UM13AIS XYW 8T 64 -

ST'E ‘BMPRT-ZT'CTZST-T1\0T0T\SOuUIMEIT DEMY "G\L8ST 4d\009T - 10ST fosd\s1epiod 108{01d\s1a(04d - Y\



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 4.15

EXTERIOR

.

/4

N
0 @ ©

INTERIOR
/ 4\ HORIZONTAL CROSS SECTION
w Inswing configuration
1-1/4" MIN.
EMB. (TYP.) NOTE:
N
e o 9 0.15"
o — e [=— CSINK
1 @ me)

9

I

N

/1" HORIZONTAL CROSS SECTION

w Outswing shown - inswing
also approved

SEE
@NOTE 1 EXTERIOR
/1)
\4/

INTERIOR

INTERIOR

1. Sidelite panel secured to the sidelite
frame with {4) of item #M located
10", 30.5", 51" and 71.5" from fop of
each jamb and (2] of item #M in
the head, 3" from each end

/i

EXTERIOR

(5

INTERIOR

EXTERIOR

7

w Outswing configuration

(50

/

. TUAMN,
EMB. (TYP.)
SEE e
M)\ ote 1 ve

A

/"5 "\ HORIZONTAL CROSS SECTION

W Shown w/1X sub-buck

INTERIOR

EXTERIOR

/

1%
_

oul

us
Zl

0.15"
CSINK —

(TYp.)

-4 &

/~3 "\ HORIZONTAL CROSS SECTION

W Outswing shown - inswing

also approved

1-1/4" MIN.
EMB. (TYP.)

Z»/’?»fz.\

0 ®
2 §. N8
gl Ezal®
zﬂ ‘an <+
= 4k g @ .
LI LVRN
%s&‘é u
558 25\ o
22>k oy -
5] !"°N el
zowE‘: ]
o O WY o £
5‘0“;,5“'56\.:
gggz‘a b
£ g q w
3_9.,55'66
PRatag 8
[N [+] o
o © €
] EUE >
£ TP
L] C g
e o
3
8
&
2]
=
]
=
s I
s »
O
EQ 175}
ownl. 8
Q:U')b o
&Sm &
moz_,
Sn:u F
Wit i) =
ELCD% =
. ] =)
5 ol S
bt Ol x
(=) o
o Bl =
o o
o
o
[72]
=
O
4
ol
(2
i
<
[
(@)
prd
oATE: 02/16/12
scale:  N.T.S,
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-15213.15

SHEET 4 OF _9

© 2012 R.W. BUILDING CONSULTANTS ING.



TOM] BANVATIMENTDO ONIGHNE "M 2108 @

B0PEY "ON "T'd “IDIUYDS ‘4 uopull SNOISIAFY o
TSy et SNOLLO3S SSo¥d Twouyan A8 Avd O] Aelo] =9
£186 -oN «dofpziisinng 30 e1boynied - NSy oM
sipouibul [DUOISSSLOLd SO PIDOE DPLIOL SATENISSY M0 Ldvd m = o m 5
LBLE'6S9°CL8 TON Buoyd d400a SSY19¥3ald N 2] jgwo 5_
S6SEEC "1d OOMIDA 0E£Z Xo@ °0'd \Sv@o "ONI QYdLSV1d ol |&|&|2 |
*ONI ‘SLNVLINSNOD ONITING ° —m m 51w ﬂ M
:Ag peipdedd sjUBLINDOQ -LONA0Yd & m 5 M
- ('dAL) “aw3
NIW P/ L-1
06
e
NN 274 (274
S D D
A % o
zl § z S
Mw 1 =TT I mn
< v = (Bt (7 a [e]
S . a < B
. 0|2 = N \\ S ol
N D e ,. \ A Glo
. ) nﬁl.. . 4 e et “m
e,
e ! mw (. S|
4 BB ok
© B4 @ pA. o B
z i L
© AN . @
(=) (= 7
27
Gl .
(dAL) 'ewa _| -
NIW W/ 1-1
(dAL) "gwa
NIW .7/ 1-1
o oz
) = O =z
ez O oz O
o E o 5
=z o =z O
- n..._\.“ L —_ & c
oo 2
vl 2|
o ' 0 wU
a2 wd az| g
{1 YIS
i A 7} m O
o|2a o2
SEs . B
=100 . =0
® o .
= () . | @
ju & |
a m R
N
("dAL) "gW3
NIW P/ -1

ST°G ‘Brmp g1-Z1 €126 T-19\0T0Z\sBumeia DaMY "G\L8ST Jd\009T - 1051 fosd\siapjod sfosd\ssfosd - v\



EXTERIOR

INTERIOR

7“1\ VERTICAL CROSS SECTION

U Outswing shown inswing
also approved

EXTERIOR
/4

INTERIOR

/"3 "\ VERTICAL CROSS SECTION

\6_/1 Outswing shown - inswing
also approved

NOTE:

1. Sidelite panel secured to the sidelite
frame with (4} of item #M located
10%, 30.5% 51" and 71.5" from top of
each jamb and (2} of item #M in
the head, 3" from each end

Do

1-1/4" MIN.
EMB. (TYP.)

NOTE 1

28

\® SEE
@ NOTE 1
EXTERIOR INTERIOR
/"2"\ VERTICAL CROSS SECTION
w Shown w/1X sub-buck
EXTERIOR
A\ Y

1-1/4" MIN.

EMB. (TYP.)

'/3'%).]\

7“4\ VERTICAL CROSS SECTION

\\éj Inswing configuration

0 @
8 5o | %
g £ 2
£  n 2o .
cp oW g
Eeoagd )=
ZfgE.
Do g8 N O
a>" 8% Ny
585 BEN,\1
5885 ¢ E\E
ggéz‘az *
03,225 w
59284 ¢
g Dok oy .g
& § o2 £
- - =¥
|4 TP
[ [ 31
P i
3
[+]
=]
73]
z
=
o
S (&)
< ]
zg ©
onl. 4
E 0l B
i S
Ol= O
ek
ry 77
TG 3
.o L =
5 &l o
= W
(=)
S -
[*% a.
P
o
%)
=
o
=
o
=
S
o
=

oatE: 02/16/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-15213.15

SHEET 6 OF 9

R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 6.15

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 7.15

— 4"

L 6"

e -

19" MAX. 4_]
ON CENTER

-

T -
= l
R Ii
s TYP. HEAD
& JAMBS l
MASONRY — —
OPENING W
I
I
mution— ||
92X BUCK SHOWN FOR
\ REFERENCE W
ONLY \I|
> I
I
—I_ [
SN | I I
BUCK ANCHORING
CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete anchors from a different supplier may have different edge

distance and center distance requiremenis.
2. Concrete anchor iocations at the comers may be adjusted to maintain the min. edge
distance fo mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors

may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded.
3. Concrete anchor table:

in
™
T E
o
&

E
o @
o
&

HINGE JAMB

mw 1/4"

1-1/4

&

1-1/4"

IR -3
L e e e —= 3
- ;.. » |—-—~4>‘

o | I I I
=l | —"
Pl o

~A TYP. HEAD &

7 JAMBS
MASONRY _
OPENING A
ol i
= &
in O
~5 8
i & =
rave — ||| — e =5
=8 Sz
N> o
e
- _
2XBUCK\
NP 1
T TYP. @SILL

FRAME ANCHORING

Masonry 2X buck consfruction

d,

‘l.l

A
E

W\
W
HINGE DETAIL

41.25"

STRIKE JAMB

A\
LATCH & DEADBOLT DETAIL

S
iy i
2§, 3
o2 cT
Zn ‘68 *
.e@}.ﬁszo'
g"‘,o’:’fv._)z R
EOG: [N}
EEo S :
259 83N
2> 88l \ »
Zow 5 ¢ k]
o £ ¥ b G E
&*0“3“5\\1\:
vgzz‘sé‘\ﬁ
= {0 .
E552Es
330..:0.; g
n_mn.n.m\-u- 4
o 2 €
] §v§ ey
[ w
@ O a
Ee% cd
2
3
>
Nz
(=]
SE
=0
o 2
Sl 2E
=2 Tu
oul., <8
0z U 5| 1y
ESlE =
2212 £2
émm S
212 o2
e Z=
) E <
S Ol x
o - X0
o] E L5
& <| =2m
o o) o
p
o
)
=
o
v
o
=
<
b
O
Zz
oatE: 02/16/12
scate: N.T.S,
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-15213.15

SHEET 7 OF 9

© 2012 R.W. BUILDING CONSULTANTS ING.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 8.15

r_ 6"
. d ‘q«'-‘“ 4. . . - .'5 o 3
! R A e
—pa B ,: : =
5 N 1 L1
= I —ll= ——1{—
e | TYP. HEAD & =
JAMBS
. MASONRY 7A _
. OPENING T
(8] . 02
i —
iF 1
22 whe
~ £ . o
e ) s L3
MULLION 1=
1-F) FRAME/ -1 <E - Eg
=5 3z
&N = o
. T
& X BUCK \
] i B
[ » T TYP. @SILL
@3 ’qq> T 4
;e 5 — \
HINGE JAMB FRAME ANCHORING
Masonry 1X buck construction
CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requiremenis.

2. Concrete anchor locations at the corners may be adjusted to maintain the min. edge
distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to moriar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

ITw /4 1-1/4" 2-1/2" 3

Imw 3/16° 1-1/4 2-5/8° 2-1/4"

41.25"

m
ol |

STRIKE JAMB

®
7
-

AR

q 1)) /@
(1)

W
W

HINGE DETAIL

Loy T s

2813
Lyndon F. Schmidt, P.E. No. 43409

813.659.9187

Florida Board of Professional Engineers

P.O. Box 230 Valrico FL. 335985
No.:

BUILDING CONSULTANTS, INC.

Documents Prepored By:

Phone

Certificate Of Aquizati

LATCH & DEADBOLT DETAIL

PLASTPRO INC.
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

FRAME ANCHORING 1X BUCK
MASONRY CONSTRUCTION

BY

REVISIONS

NOJ DATE

pate: 02/16/12

scuE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING HO.:
FL—15213.15

SHEET 8 oF _9

© 2012 RW. BullLDING CONBULTANTS INC.




BILL OF MATERIALS

75"

/
]

* t 244

213

HEAD & SIDE
Jamb

R:\A - Projects\Proiect Folders\proi 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18,dwg, 9.15

ITEM| DESCRIPTION MATERIAL

A | TXBUCK SG >=0.55 WOOD

B_| 2XBUCK SG >=0.55 WOOD
C_|1/4"MAX. SHIM SPACE :
D_|1/4"X 2-3/4" PFH ELCO OR TW CONCRETE SCREW STEEL

£ | MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F_| 1/4"X 2-3/4 PFH TW CONCRETE SCREW STEEL
H_|1/4"x3-1/4 PFH TW CONCRETE SCREW STEEL

|| 1/4"X 2-1/4"PFH TW CONCRETE SCREW STEEL
J_|1/4"X 3-3/4" PFH TW CONCRETE SCREW STEEL

K_| #10X 2" PFH WOOD SCREW STEEL

L | #8X2-1/2" PFH WOOD SCREW STEEL

M_| #8 X 2"PFH WOOD SCREW STEEL

7| FORCE 5 WEATHER STRIPPING BY ENDURA FOAM

8| COMPRESSION WEATHER STRIP QLON 650 BY SCHLEGEL FOAM

9| 4"X 4" BUTT HINGE STEEL

10 | #9 X 1" PFH WOOD SCREW STEEL

T1_| #9 X 3/4 PFH WOOD SCREW STEEL

13 | #8X 1-1/2" PFH WOOD SCREW STEEL

17_| KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL

18| KWIKSET DEADBOLT - SIGNATURE SERIES (780) STEEL
20 | FINGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WOOD
21 | POLYFIBER JAMB COMP. / VINYL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
29| SIDELITE SPACER PVC
30| INSWING VINYL DOOR BOTIOM SWEEP BY ENDURA VINYL
31_| OUTSWING BUMP THRESHOLD ALUM.
32_| VINYL DOOR BOTIOM SWEEP #3628 BY HOLM IND. PVC
33_|INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD
34 | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
35 | SHOE MOULD 5/8" X 3/8" WOOD
40_| DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
41_| DOOR SKIN [MIN. 0.075" THICK] FIBERGLASS
42 | TOP RAIL CELLULAR/PVC
43 [ LATCH & HINGE STILE CELLULAR/PVC
44| REINFORCEMENT WOOD FOR LOCKS (20" LONG] WOOD
45 | BOTTOM RAL CELLULAR/PVC
46 | POLYURETHANE FOAM BY NAN YA POLYURETHANE
47 | CONTINUOUS LATCH & HINGE STILE REINFORCEMENT WOOD
49 | GLAZING COMPOUND SILICONE
50 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS SILICONE
51 | SIDELITE TOP & BOTIOM RAIL BY NAN YA CELLULAR/PVC
55 | LIP LITE_ODL/WESTERN REFLECTIONS HP POLYPROPYLENE
56 | GLAZING SPACER ALUM.
57 | #8x 1-1/2" PFH LITE FRAME SCREW STEEL

5.63"

0.5" GLASS
BITE

| 456" - R
* e BEPR

HEAD & SIDE
Poly fiber jomb

4.56"

"'l 125" j=—

@ OQUISWING BUMP THRESHOLD

49

I
A

55

GLAZING DETAIL

"

1" MIN.
GLASS THK.

1/8" TEMPERED

/ GLASS

|a—AIR SFPACE

OPTIONAL
DECORATIVE INSERT

AlIR SPACE

1/8" TEMPERED
GLASS

i

3

( : ) ADJUSTABLE INSWING THRESHOLD

by
iy ] (\a
[+
8 8m > 9
gm ES&?
z D&
LLEVANE:
@ gz
%ﬁ%%: ul
252 88 o
a>" 88l =
Zow 5T z
e O3 ) o E
@ oo d\-r:
ggéz%g\dﬁ
58 .25 w
0.—000 =
83.£0¢ H
a_mmn.ms 5
o £ £
8 S”E X
E Tt
] S @
E@ &0
g
)
=
3E
S %
28 b
—
owl., =
e Uy 5= QS:O
o o T
Qeln I
Swlel =
e =
. T OE
3] ol =
2 ol 2
el 1§~
& &
&
)
=z
O
0
e
o
<
o
O
e
ATE: 02/16/12
scAlE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL-15213.15

SHEET _9 oF 9

© 2012 R.W. BUILDING CONSULTANTS ING.



